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1 }--— Market is the most volatile market, ISR BT gard

a. Money market / ATor ST
b. Call money Market / #ie 1 HThe :
c. ' Commercial paper market / STEETRAT 99T TSI
Treasury Bill Market / 28 faer ATéhe
Money market is & market for /AT0r ISR § SIS HIOMETST AR?
a. Short term funds / sasEa eft
b. Medium term funds / wsaw qaf= fReft
c. Longterm funds / Epfﬁiﬂv'ﬁ'ﬁ?f ey

d. Medium term and long term funds / "#eaw Tt sfor
raFTA [t

oo I o

3  Capital Market is regulated by / ST AT
___ Er et ¥ 9w

a RBI / z<. ot ama

b. SEBI/ &t

c. Money market / Ao TITX
d. IRDA/IRDA

4 ‘Rajiv Awas Yojan’was announced by the Government
to have a --------- JTSE AT AT LRI OIS0 SATEIE weAT
grdt?

a. Slum free India/ #9SYEr qF AT

1
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b.  Poverty free India / T wrea

c. Unemployment free India / sRsRmQ =F ATXT

d. | Inequality free India / fawwar g s

5 The rural India has more than of the total population. / arior
AT ATHEEAT UHOT AFHCIIAT T e,

a. /0%

b. ,90%

C. | 85%

d. " "65%

6  Balance of payment always ------ / 9% ferewr AgHT

a. Equals/ @919 o194

b. Balances/ freas &4

c. Surplus/ sfaay

d. Deficit/ q@ |

7  Current account deficitis balanded by a -----=-- in the capital
account / Higasl GTATHS AT @TATHA L ————===— g Eqiea
FeAT ST

a Deficit/ e

b. Surplus/ sfesery

c. No change / #gl I& ATEIl

d. Equal / #¥°+

Market information reduces exploitation of / arsrardte

W%fﬁg%gﬁwmﬁﬁﬁ

a.

Farmers / Srasr
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*b.  Traders / =T
Cc. Wholesalers/ =13s f@aar
d. middleman / 5egey

Which of the followingis related to Microeconomics?

@'l?rﬁ?fﬂ?ﬁ IO Gew srdomansht gafe e |
a) The size of national economy / T srdferaed=T srFw

b) Inflation/ wgrms
c) ‘Unemployment aZrsm

d) Behaviour of individual economic units FafRFF s T
a7

10 Which among the followingis related to the demand curve?
GTeATedeshl HIora " AT wefaa ame?

a) Relation between quantity demanded and price of a

commodity AT Ferer SRS aeEt fhea wisarder g9y

b) Relation between supply and-demand of a commodity AT
qLAST 0T AWTOR A=A Hay

c) Relation between income of customer.and demand of

commodity TTEFT= Iera AT Feg= AR ATsqrde g

d) None of the above T8I FTarer ATl

11  Which of the followi-ng-is'. not a factor affecting the supply of
a commodity? @TeTerd=T FITaT T2 Feq=aT [LESITaT TRUTH F3q
ARl ?

a) Price of commodity aEg=t v

b) Change of technology of production Icames dasTdT T84

c) Change of input prices zTaqe fFadiaer Tz
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d) Income of customers e Ieqw

12 Which among the following is an example of substitution

goods? @I ishl FITq FATATTT T6GS TAEXT A2?
a) Milkand Coffee gu =ifir Fid

b) Pen and Paper 99 =for #mre

c) Inkand Pen 9 anfor o+

d) Tea and coffee =&r anfor =it

13' Which among the foilowingis related to utmty? @'l?ﬁﬂ"?raﬁ
FOTd ITgwaelt FEfaT sme?

a) Satisfaction and wants @HTHH T T==T

b) Necessity and wants <3S, snfor =@t

c) Usefulnessand need swysrgr-smfir s

d) None of the above af=sd$ wTErl Arat

14  What is Market equilibrium? aTstiY goarer =Sy #7197

a) Quantity demanded greater than quantity supplied T
%ﬁvzil EIFIIU_I..Ia?ﬂT STEd YHTITH ql‘l_““ a‘T'ﬁ' iﬁ’ﬂ'

b) Quantity demanded less than quantity supplied Taa1 F#ear
THTOTIET FHT qEofT et oo

¢) Quantity demanded equal to quantity supplied %21 Ferem
d) Quantity demanded is same as quantity produced #mToft
A THT IeqTed FofedT THTUTETCES ATg

15 Which one out of the following is correct for marginal cost?

e awiard aTefedd Fo A e
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a) Increase in cost due to change in price fFmdidie seae
gHElq 918 |

b) | Increase in cost due to high demand STed ARU{Ye @9id a8

c) | Increase in cost due to increase in extra unit of output

ITEATAT AT LT 918 ATATHS @I A8
d) None of the above a{«det FIvidral ATal

16 Which sector is the largest source of employment in India?

ATCATE IS ASTCrET |aid "SI &Id R0l Ag?
a) Manufacturing 3ITEq

b) Agriculture et
c) Services #HaT
d) Tourism Tdeq

17 Who maintains officialéxchange rate in India? |mard«
aferpa faffwr a2 & TEar?

a) RBI/ sme.d.sma
b) SEBI/ &=t
c) Department of finance / A= f&¥m

d) None of the above FTOAHT Frorarst Arar

18 Which of the following are part of Gross National Product
(GNP)? ®Tefterdst ®iviad et TEIT 3cared (GNP) AT WIT 3ga?

a) Imports marq
b) Exports fRaia

c) Money earned by resident abroad TeEuTdE TRATAAT FHTTAA
ae

d) All the above zf« @4
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19 What does free market in an economy imply? sri=aesa g6
ATSATC FEUTS FTA7?

a) Minimum government intervention in trade and maximum
regulations =TT fFw @G gEaed snfor FaTer A

b) Maximum government interventionin trade and maximum

regulations =TI ATEATT STEd TR geastq (o Farer [a9

c) Minimum governmentintervention in trade and minimum

regulations =ZTITETa FFATH ®RTT geasd smror R Raw

d) Maximum government interventionin trade and maximum
regulations =TI STEATT ST ACATET Beqerd smfor a1 =aH

20 Which organizationcalculates GDP in India? amardra
ST AT FIOTdt 6edT HLa ?

a)) O8O

b) NSSO

c) Department of Economic Affairs ¢/ /stfds =agre fasmr
d) IS0
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ECONOMICS SET 1 DESCRIPTIVE TYPE QUESTIONS

Ot . Distinguish between Positive and normative economics

S SRR

Explain the Law of Demand with suitable diagram.

3 What are the differenttypes of elasticity of demand?

1

e

(=

4 Diagrammatically explain how price is determined using
demanc and supply eurves, ST S0 000 e Pl s

S £xplain the features ofgRopoly market structure.

& Expiain the Salient Features of [hdian economy .

s \What are the reasons attributed to 1ow agricultural production

J

and productivity in India?

?

Fxplain a few features of New Industrial Policy 1991,

Lrtdls

S Explain the features of Indian Capital Market,

10 Write a note WTO. WTO



